INSTALLATION INSTRUCTIONS

FLBR101 ADJUSTABLE FLOOR BOX

Contents:

(1) FLBR101 non-metallic floor box

(1) tamper-resistant ("TR") duplex receptacle
(1) back plate

(1) rectangular cover plate w/ gasket

(5) #6-32 x1/2" long screws

L0

(4) #6 drywall screws (1) NM94 Connector
(2) threaded blanks
(1) NM94 connector

(4) #6 Drywall Screw
If you have questions or if parts are missing, o

from your FLBR101 please call Arlington's
Customer Service Department at 1-800-233-4717.
DO NOT CALL or RETURN PRODUCT to your
LOCAL STORE or DISTRIBUTOR.

(5) #6-32 X'1/2" Long Screw

1 Determine location to install FLBR101 Floor Box,
avoiding floor joist.

Cut a 2-5/16" x 4-1/8" hole in floor (template provided).

Install the NM94 connector in box. Pull cable through
NM94 connector.

Install box to floor with (4) #6 drywall screws provided,
through the (4) outer holes of the box.

Wire the TR receptacle and install itin box.
Install back plate using (1) #6-32 screw provided.

Install cover plate using (4) #6-32 screws provided.
Install threaded blanks in cover plate.

Threaded
Blanks

w/ Gasket

Back Plate

Tamper-resistant
Receptacle

Non-metallic
Floor Box

LISTED

Wire receptacle per NEC, State and Local Codes.

The manufacturer warrants this product for material and

workmanship only, and shall not be liable for any special incident

or consequential damages or for damages or loss caused by improper
use or installation.



